Mirror probs Concave
1. Describe the image of a candle flame located 30.0 cm from a concave mirror of radius 54.0 cm.

1/30 + 1/di = 1/27  di = 270  Larger, inverted, 9x larger m = - 270/30 = - 9
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2. Describe the image of an object positioned 25.0 cm from a concave spherical mirror of radius 65.0 cm.

1/25 + 1/di = 1/32.5 di = -108  negative di means virtual image (behind the mirror) upright, m = - (-108_/25 = 4.3 x larger
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3. How far should an object be from a concave spherical mirror of radius 46.0 cm to form a real image at a distance of 120 cm from the mirror?

1/ do = 1/23 – 1/120  do = 28.5 cm
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4. What is the image distance and magnification of an image formed by placing an object  25 cm from a concave mirror that has a focal length of 15.0 cm? 
1/15 – 1/25 = 1/di di = 37.5   m = -37.5/25 = - 1.5 (inverted image)
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5. An object 4.0 cm high is located 30.0 cm in front of a spherical concave mirror of with focal length of 45 cm. Determine the position, magnification, and height of its image by using the mirror equations.

1/45 – 1/30 = 1/di   di = - 90 m = - (-90)/30  = 3  m = hi/ho so ho(m) = hi   4.0 cm (3) = 12 cm tall virtual, (behind mirror because di is negative
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